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ECONOMICS (In all Mediums)
Paper: Indian Economy

Time Allowed: Three Hours] [Maximum Marks : 90
Note :— (1) There are two Sections - Section A and Section B.

(2) Question No. 1 is compulsory.
(3) In Section B, attempt one question from each Unit.

SECTION—A
1. Attempt any nine of the twelve :

(i) Explain Indian economy as a Mixed economy.

(ii) Causes of low productivity in Indian agriculture.

(iii) Consolidation of Holdings.

(iv) Role of Public Sector in Indian economy.

(v) Liberalisation.

(vi) Difference between Cottage and Small Scale Industries.

(vii) Export promotion.

(viii) Principles of federal finance.

(ix) Give features of MNCs.

(x) Causes of poverty in India.

(xi) Effects of inflation.

(xii) Reasons for Consumer Protection. 9 ><2= 18
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SECTION—B
' ~*

Note :—Attempt any one out of each Unit.

UNIT—I

2. Explain main features of Indian Economy on the eve of

Independence. 18

3. What is Green Revolution ? What impact it had on Indian

Economy? 5,13

UNIT—II

4. What are the problems of industrial development in India ? Give

suggestions to solve them. 9,9

5. Explain and critically evaluate Industrial Policy of 1991. 18

UNIT—III

6. Explain features of Indian Taxation System. What are its

defects ? 9,9

7. What is meant by Balance of Payments ? What are the causes of

adverse Balance of Payments ? How is it corrected ? 2,8,8
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UNIT— IV

8. What are the causes of unemployment in India ? What steps

have been taken by government in recent years to solve this

problem ? 9,9

9. What are the main objectives of Indian Planning ? Discuss the
failures of Planning in India. 9,9
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(x) *fror f ^rt <t>i<ui i
(xi) FM ^T WWI

(xii) dH^Jdl ^STT ^ ^R^T I 9x2=18
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c f l 9,9
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:— III
6. sfRcfrT ^^TSfPT yuilc^l cf^tf ^t <=^K°MI ^T I

9,9

7. ^WPf 1̂ «'gcl*l ^IT t ? yld^d ^iJclPT % ttgcll % ^T

t ? ̂  ̂  ^F î TT WT t ? 2,8,8
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r— IV
8. *?f 3r ^{ivI'llO % W- ^KT t ?

' % feftT *K«t>K SKI I?Tef ^t 3f ^p3> ^t 3

t ? • 9,9
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(x) 3'dd f^tJ dldlal ^ cX'<d<*l
*

(xi) HJldl 51" y^?"l

(xii) fytdiH1" Frafyw % sp î 95<2=18

— »f

(̂  ofl" I

oftl 18

2.

3. dfdci cfT^t oO" t" ? 2('ddl »1dt)fe^H^' §yd" fSTftF off

Tft ? 5,13
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4. sJ'dd fW 6t!yfdlo( feof'H €t»F ofl"

9,9
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